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¢ Please check that this question paper contains 23 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i) I8 FA-9F T 97§ [y 8- ®, @ KT/

(i) 9T % gl ST @ forg sifAard &

(iii)  FHTITT 1 I YT @ R T H G I Uk YT 5T HATE |
(iv) 141 397 & T 97T & I TP & T W ferEw |

General Instructions :

(i) This question paper contains three parts A, B and C.

(it)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv)  All parts of the questions should be attempted at one place.

HTT <k
(TSR WA qUT i o forg SEieR)
PART A
(Accounting for Partnership Firms and Companies)

1. @ISR S Ia9 P YPIAE i o 993 7 e Torg 09 8 | S 9 U
Greier 8, 9 9 <l foh 389 =Iaa™ &1 JereH i R 8, 31d: 38 T 10,000
1 ATTEeh I e =nfge | = a8 Ja9 aH <t AfeRr 2 2 SR Fdmsu | 1
The partnership deed is silent on payment of salary to partners. Amita, a

partner, claimed that since she managed the business, she should get a
monthly salary of ¥ 10,000. Is she entitled for the salary ? Give reason.

2. % ¢ "R gN @l % fou fifiem % w9 § yam i g ufy w5 e,
forg aftfeyfa & wd <t qeaet B =t fopen Strem 2 1
Under what circumstance will the premium for goodwill paid by the
incoming partner not be recorded in the books of accounts ?

3. 39 9WR 1 T FA1ST S BH o GHII o THY S @A H A 9& hl IR
FEATAILd &l <hl SITcl, Sifehd BH b HHTIA o THI I IHehT kT Tomam ST 2
@ FB g H Wi Bt B | 1

Name the asset that is not transferred to the debit side of Realisation
account, but brings certain amount of cash against its disposal at the
time of dissolution of the firm.
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PV . _y private placement of shares ?
5. M, R AT X TH BH H ARCR & S AT I HAM: 5: 4 : 3 h UG

fawfira e 9 | IR IS AR T 50,000, T 40,000 T T 30,000 off |

o TR T Hid W HBH 6l T 6,00,000 sl T hl T 1 THRISH I

TTSER o6 Yoil @Al § fohd 31aTa | fohal STQT ? 3g@ T | 1

P, Q and R were partners in a firm sharing profits in the ratio of

5 : 4 : 3 respectively. Their capitals were ¥ 50,000, ¥ 40,000 and

T 30,000 respectively. State the ratio in which the goodwill of the firm,

amounting to ¥ 6,00,000, will be adjusted in the capital accounts of the

remaining partners on the retirement of Q.

6. ol Afufm, 1956 6 AWM T FTIAR AT & qd I TRT W R g
fore G & =S 1 YA foRan SiTar g 2 1

At what rate interest on calls-in-advance is paid by the company
according to Table A of Companies Act, 1956 ?

7. O 1w g g 2 1
What is meant by ‘Debenture’ ?

8. TH IO 4 U=t & awi § T 6,00,000 1 Fd @9 Afdd foham 7 |
THEY @Al hl TH A R 10% & | o™ 6l ol qearaal adm g
T T AW T 22,00,000 A T 560,000 7 | ATy fafer & w6 61 @i

% oo <l MU i Afe wnfa w1 geAmd Afaey % 2%6@%%&%
SO o3 STaT 3 | 3

A business earned average profits of ¥ 6,00,000 during the last few years.

The normal rate of profits in the similar type of business is 10%. The
total value of assets and liabilities of the business were ¥ 22,00,000 and
T 5,60,000 respectively. Calculate the value of goodwill of the firm by
super profit method if the goodwill is valued at 2% years’ purchase of

super profits.
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SN L v, 2012 SR ﬁﬁ&m%m |ﬁ11‘q=rtg1’r6ﬁw Jfigd gam | =S

H PaE 3% foxfir ad & o ¥ fan Smom | oAy 2012 - 13 % fau
mavash s gfafeeat i | 3

Sargam Ltd. issued ¥ 1,00,000, 6% debentures of ¥ 10 each at a
premium ¥ 2 per debenture on 15t April, 2012. The issue was fully

subscribed. Interest will be paid at the end of each financial year. Pass

necessary journal entries for the year 2012 — 13.

10. TeWwn fafiees &1 Yo =yeum™ TRR fwf g | e, s srfufem &
YA dAT Yot o HEEHT % YU % faug § 37cd=d &deh & | 1 310, 2010
I HH F T 100 IIF & T 18,00,000, 8% FUGT 1 FHiH foham | eht
e 5% ity W foren S o | 31 9T, 2013 i, Gl SROTdET 1 3EE o
fean e | I TRl w1 Tl S 8 91g UgWOT BT |, ofd: ROl 3§
et fe=r & fofu e wam weofuq foha |
FOH] % e 6T TEvEh UsHar Sferseat Hife qon 36 qoa 61 ggam o
ifsrt St weren fafies grn sraelfera fohem e | 98 W form wen R TR
HFIT o SROTIST o YA = Wid | 93" AT B | 3

Maharana Ltd’s main business is manufacturing of tyres. The company is

very particular about the observation of the provisions of the Companies
Act and SEBI guidelines. On fici April, 2010 the company issued
T 18,00,000, 8% debentures of ¥ 100 each. The debentures were
redeemable at a premium of 5%. On 315t March, 2013, all the debentures
were redeemed. Since the manufacturing of tyres results in air pollution,
the company had installed a plant for its effective control.

Pass necessary journal entries for the redemption of debentures. Also
identify the value observed by Maharana Ltd. It is assumed that the
company has adequate balance in Debenture Redemption Reserve

Account.

Beg3e Visit www ncer hel p.com For 4AIl Videos Lectures of all Subjects



Visit . ncerthe com For All RTSoIU|os
E Sarrplrbyﬁ%lvér%,%@@é F‘%Waﬁ‘erg &E 6 to 12
St a2t o1 e, 2013 1 e feafa-faato fergar o

Terfa-feremor 31 7L, 2013

3 3

il
tC| 60,000 | Ths 14,000
T 40,000 | Thee 30,000
| 30,000 | GTER 22,000
[SECAE 30,000 | 9o 40,000
< fau 4,000 | &3 53,000
AT T 21,000 | A a7 26,000
1,85,000 1,85,000

I fafdr sl T A o7k wew foran den ffaRaa & foe weafa g8

(1)  SFIfEl Q91 GAGTNET T HedTehd 39 JohR 83T : Thed T 24,000; SIGR
T 21,000; Y99 T 45,200; TIF T 50,000 AT TSR T 28,000 |

(i) T ! P T TR BT TAFTROT 3G F0T @I | foham S |

JHcATR @1 AT T M ISt @1 dIR hiT | 4
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. 7e1y ollowmg was their Balance Sheet as at 315" March,

2013 :
Balance Sheet as at 315t March, 2013
Liabilities AmOURt | 4 sets Amount
Capitals :
Raman 60,000 | Cash 14,000
Ratan 40,000 | Stock 30,000
Rajan 30,000 | Debtors 22,000
Creditors 30,000 | Building 40,000
Bills Payable 4,000 | Plant 53,000
General Reserve 21,000 | Motor Van 26,000
1,85,000 1,85,000

On the above date Raman retired and following were agreed :

1) The assets and liabilities were valued as : Stock ¥ 24,000,
Debtors ¥ 21,000, Building ¥ 45,200, Plant ¥ 50,000 and
Creditors ¥ 28,000.

(11) Amount due to Raman will be transferred to Raman’s loan
account.
Prepare Revaluation Account and Raman’s Capital Account.

12. & fafiee 7 @ fdfids 1 =9ad g3 =FaE™ T 1,50,000 1 G011 5631 fopa
e e T 10 TS & 10000@4?1134@3% T 2 WiftEm ufd 319
fifia shteh 9T 919 TR i Ushg H YA hich fohAT TAT | FEARMAT TH <IATT
[SICELESIRE

TIF — T 40,000; 9 — T 40,000; STER — T 30,000;

W — T 50,000; B — T 20,000; SFER - T 20,000.
% fafiee & qeaehl # IUYH oAl o ToTT STaweh UsHH=T Ufafsedr e | 4
A Ltd. purchased a running business from B Ltd. for a sum of
T 1,50,000 payable by issue of 10,000 equity shares of ¥ 10 each at a
premium of ¥ 2 per share and balance in cash. The assets and liabilities
taken over were :

Plant — ¥ 40,000; Building — ¥ 40,000; Debtors — ¥ 30,000;

Stock — T 50,000; Furniture — ¥ 20,000; Creditors — T 20,000.

You are required to pass necessary journal entries for the above
transactions in the books of A Ltd.
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TAWTTSId htd 2 | o WiW &1 &H # 1/7 9W % foT |r8ier & &9 | gam
HUAd & | T AT IqSE STAT 4 : 2 : 180 | UgH @ Wigd & ml
31U Sl U IR |

(@) oIWeT QT HAAT T BH H AHGR & a7 ShAY: 4 : 1 G H AH
fafora =@ 8 | 329 fomen = e # 1/4 wm & foT Agier & w9 A
vou U, 8 fowen 3 qofa: stoen @ ww fom 8 | Areier o1 A
AT IS AT F7d I | 2+2=4

(a) Rohan and Mohan are partners in a firm sharing profits in the
ratio of 5 : 3 respectively. They admit Bhim as a partner for 1/7
share in the profit. The new profit sharing ratio will be 4 : 2 : 1.

Calculate the sacrificing ratio of Rohan and Mohan.

(b)  Amla and Kamla are partners in a firm sharing profits in the ratio
of 4 : 1 respectively. They admitted Bimla as a new partner for 1/4
share in the profits, which she acquired wholly from Amla.

Determine the new profit sharing ratio of the partners.

14. & fafee %1 9SEF T 10,00,000 1 3Tfespd St € g3 S T 10 TAH 6
guar 39 | fawek oft | e 9 50,000 39T & A & fow Stees smfEa
foFT | 48,000 37211 o TIQ 3TTegA WH gY | |t ATeA1 TRT /0T < T8 91 JH
Bl TTE shad 1,000 3790 ! BiehL, voF W T 2 Ufd 3131 i Afam Jremn afsr T8
fefl | 39 |t STl Wl Feq R o T d«n 91g § T 9,000 W YUl Yed gA:
i s feam |

(i)  HEOT ATAFIE, 1956 i AR VI, HFT 13 ITTHR & s o &afd
foaor § ‘a9 St o1 foRd SRR g SIT@ ?

(i) 3w o fIC @i & ied’ off TR FHifu | 4
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ifvviogede’ (A 2s of ¥ 10 each. The company invited applications for the

issue of 50,000 shares. Applications for 48,000 shares were received. All
calls were made and were duly received except the final call of ¥ 2 per

share on 1,000 shares. All these shares were forfeited and later on
re-issued at ¥ 9,000 as fully paid.

) Show how ‘Share Capital’ will appear in the Balance Sheet of
A Ltd. as per Schedule VI, Part I of the Companies Act, 1956.

(i1))  Also prepare ‘Notes to Accounts’ for the same.

15, %, @ qAT 7T Th ®H H ARER o | 1 370, 2012 1 3T ISl o
Z 5,00,000; T 2,50,000 AT T 2,50,000 off | AEEH i@ % WEYUM! 6

SJHN

() T T 5,000 Id ATE AT ITH T TR T |

(i) = ol 9fd 99 T 80,000 HHIIH IIH T AfRHR o7 |

(iii)  HTSIERI I IS W 6% STk TS T 1 SAIRR o |

(iv) ®TIIeR i w1 doft srgura & feenfoma sHia |

31 9T, 2013 ! THTE 8 dTcl Y &1 g @9 T 3,00,000 o, Feept favmsH
39 TEEHI hl IH H W o1 SteR-se Kt fean m | ot S feoofi
! T fo@aTd gu, 39 o 0T STrewas qurisH Jdfse iy | 6

A, B and C were partners in a firm. On 15t April, 2012 their capitals
stood as ¥ 5,00,000; ¥ 2,50,000 and < 2,50,000 respectively. As per
provisions of the partnership deed :

1) C was entitled for a salary of ¥ 5,000 per month.

(i1) A was entitled for a commission of ¥ 80,000 p.a.

(i1i) Partners were entitled to interest on capital @ 6% p.a
(iv)  Partners will share profits in the ratio of capitals.

Net profit for the year ended 31.03.2013 was ¥ 3,00,000 which was
distributed equally, without taking into consideration the above
provisions. Showing your workings clearly, pass necessary adjustment
entry for the above.
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Teafa-ferewor 31 wr=t, 2013

3 3
AIER 12,000 | kg 13,000
=y 10,000 | GER 8,000
g TheY 10,000
30,000 | #ef=R 30,000
20,000 | &= 20,000
T 15,000 | 9e=eH 6,000
87,000 87,000

1 TSR, 2013 I, AR % SR @ H GF & TS | B a1 @ o (Sq1Gehi
He I8 AWl g7 foh @ 1 ¢ €U 1 ITAN Mg § Th HHSRIS Wad
T o foru fepam ST | wWEd % STHER

(i) a1 qourehd fUsel 9 aut o IftEd oW o o T o SR
BN, S : 2009 § T 10,000; 2010 § T 13,000; 2011 H T 12,000;
2012 H ¥ 15,000 99T 2013 § T 20,000 & |

(i)  UeeH 1 oA T 8,000; AL ST T 28,000 AT W T T 30,000
7o |

(iii) Hg o T % @ < e < A9 i TUET, I9 2013 6 AW & X T
Uil

(iv) ISt T 10% a1ieh &€ & = T s |

(v) @ {I5aTeeh] &l < TRT gF ©Td H TAETARG o f S |

(%) @ o fIoaTes ! TG A b foTT 3gept doft @ran d9r Hifse qen
(@) o # IR fohu MU foreft weh He 1 ggaH iU | 6
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{ ] )ir Balance Sheet as on 31 March 2013 Was as follows :

Balance Sheet as on 315t March, 2013

Liabilities Amount | - cets Amount
Creditors 12,000 | Cash 13,000
Reserves 10,000 | Debtors 8,000
Capitals : Stock 10,000
A 30,000 | Machinery 30,000

B 20,000 | Buildings 20,000

C 15,000 | Patents 6,000

87,000 87,000

On 1% October, 2013, due to illness B died. It was agreed between the
firm and B’s executors that the amount due to B will be used for
construction of a community hall in the village. As per the agreement :

(1) Goodwill is to be valued at two years’ purchase of the average
profits of previous five years, which were : 2009 — ¥ 10,000;
2010 — < 13,000; 2011 — <% 12,000; 2012 — < 15,000 and
2013 — ¥ 20,000.

(i)  Patents were valued at ¥ 8,000; Machinery at ¥ 28,000 and
Buildings at ¥ 30,000.

(iii)  B’s share of profit till the date of his death will be calculated on the
basis of profit of the year 2013.

(iv) Interest on capital will be provided at 10% p.a.
(v)  Amount due to B’s executors will be transferred to Charity
account.
(a) Prepare B’s capital account to be presented to his executor and
(b) Identify any one value being highlighted in the question.
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e ol Sgd et
T GHSAT H T 4 39T Teh F1Y @I {1 a1 Tewhl wa el 4 a8 i forn
6 3 T M T T H GR ¢ < | 31 °HE, 2013 I Tew IR el w1

|UI
t %Fﬁmé%@’e to 12

Tedrfa-foeor e o
Tt AR =fer ot fearfa-feawor 31 v, 2018 =6t
3 3
Tfew o & foTg s 40,000 | Uhg 1,00,000
i afagfd Ffa 56,000 | fafay Ter 8,00,000
g I 30,000 | ¥i<h 2,00,000
EC 3,00,000 | G 3,86,000
ECil ATH-BTH @ 40,000
T 5,00,000
ffer 6,00,000 | 11,00,000
15,26,000 15,26,000
T @ fEfRad wrdl W wH § A fea e
(i) T IO S o TR o ®4 H T 4,00,000 AT, Aok 98 BTN <h
fore =18 oft Tfyr 29 4 srEmef o |

(i)  TewI, ier am T o sfiw = ey faueH STuTd 302 180 |
(iii) HUERI @fqfd &1 T 30,000 HT TET T |
(iv) ¥ 40,000 i TRT ! gad VT o foIC afeifad AT o |
(v)  TFGRI BT T 20,000 T 3T YA foRam T o1 |

(vi) 37ed =91 &l T 12,000 T AT & |

(vil) STIATRIG <FaT o fT T 20,000 e fopw 7T 8 |

(viii) ¥ h! EAT T oA T 1,80,000 R foham w1 7 |
QeI GTdT, HIEIGR ® Yol @Td q91 95 HH o1 TR fefd-foetor dan

Hifo | g & et T qou i TgEE HINT S AEER FHTS Sl gEivd

HET =R 9 |

YT
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shid ¥ | d dg sraﬁﬁawﬁwﬁé@ﬂﬂwﬁwaﬁéﬁwl
3d: I8 FIU hl 9< hich 3Teh [dshd U UTH YUIRT sl Tsh TA.S(.3T. <hl
A H o w fofa fon | aw wShen. weh & | wgwe feEm % faw
FRIIU o Hd § e off | 31 S, 2014 w1 3R feufa-faewo Frafafaa

97 .
Teafa-fereror 31 St 2014
T T
TGN 65,000 | fF 1,20,000
29 oo 35,000 | WY 65,000
g - &t 10,000
T 75,000 | The 25,000
| 75,000 | TTER 20,000
Thg 10,000
2,50,000 2,50,000

T A TSR 1 PTAE 15% 2 T Tohan aom v9W 3 ¢ fou=i &1 U e
fopan | FrafcrRll | SEel 39 YRR g% : YW § 20% w9, F " T 35,000
g ¥ 25% HE AT ¢IQM & T 12,500 | FEe = T 1,750 1 TAE W
J TR |

el @, WEER! % Yt Wid q97 S @il AR hINT | ATEerl gan e
! grfva fopell T gou 1 Tga ot il |
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limbs. On 1°* April, 2013 they admitted Gama, a good friend of Beta into

the partnership. Gama lost his one hand in an accident and Alfa and

Beta decided to give one artificial hand free of cost to Gama. The Balance

Sheet of Alfa and Beta as at 315 March, 2013 was as follows :

Balance Sheet of Alfa and Beta as at 315t March, 2013

A t A t
Liabilities T | Assets e
Provision for Doubtful 40,000 | Cash 1,00,000
Debts
Workmen’s 56,000 | Sundry Debtors 8,00,000
Compensation Fund ’ undary T
Outstanding Expenses 30,000 | Stock 2,00,000
Creditors 3,00,000 | Machinery 3,86,000
Capitals : Profit and Loss A/e 40,000
Alfa 5,00,000
Beta 6,00,000 | 11,00,000
15,26,000 15,26,000

Gama was admitted in the firm on the following terms :

1) Gama will bring in ¥ 4,00,000 as his share of capital, but he was

unable to bring any amount for goodwill.

(i1))  The new profit sharing ratio between Alfa, Beta and Gama will be

3:2:1.

(ii1)

(iv)

To write off bad debts amounted to ¥ 40,000.

(v)  Creditors were paid ¥ 20,000 more.

Beg3e Visit www ncer hel p.com Fori Al |
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(vii) ¥ 20,000 be provided for an unforeseen liability.
(viii)) Goodwill of the firm was valued at ¥ 1,80,000.

Prepare Revaluation Account, Capital Accounts of Partners and the
opening Balance Sheet of the new firm. Also identify any one value which

the partners wanted to communicate to the society.
OR

Ram and Shyam were partners in a firm sharing profits in the ratio of
2 : 3 respectively. They become old and no one was there to look after
their business. Therefore, they decided to dissolve the business and
donate the amount available to an NGO who are providing service for
growing trees in urban areas to control pollution. On 315 January, 2014
their Balance Sheet was as follows :

Balance Sheet as on 315t January, 2014

Liabilities Am;unt Assets Am;unt
Creditors 65,000 | Land 1,20,000
Bills Payable 35,000 | Machinery 65,000
Capitals : Goodwill 10,000
Ram 75,000 | Stock 25,000
Shyam 75,000 | Debtors 20,000
Cash 10,000

2,50,000 2,50,000

Ram paid the creditors at a discount of 15% and Shyam paid Bills

Payable in full. Assets realised as follows : Land at 20% less; Machinery
at ¥ 35,000; Stock at 25% less and Debtors at ¥ 12,500. Expenses on

realisation ¥ 1,750 were paid by Shyam.

Prepare Realisation Account, Partners’ Capital Accounts and Bank
Account. Also identify any one value which the partners communicated to

the society.
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mqgﬂklwwm,wwm|3:T315ﬁW?:309ﬁ313Tﬁ9W
FreET RN ATH A2 g8 off 9o T 20 Wid 371 <l safaH A Tl St
A A& TS off | 91G H 37 M Hl T 70 WA I HI T H T 80 WG W
g fifea e oo e |
o fafiee i geaeni § ITYE THeAl o ToT Amaweeh Usm=n yfafsear
IS |

(@) ta fdafies 3 T 20 99 & 470 9ar 3N 1, e foima = 3 fa
W o fiftem w e mn o, Sed o form | 39 oA W T 8 ufd e
i fraed Uiyt (T 3 fiftem wfzq) qen = 5 gfa otwr it vom I iy
T YA TH A&l 83T | T 5 Ufd 31 <l HAlqH Freqr i st A&
Hit 775 oft | 39 ¥ 235 37T T T 19 Ul 37 & AW W IO T5d &9
ﬁ?:ﬁhﬁﬁ%Wl

ue foafieg it gashl § IWh SHeH & e Stavaes AsHm=n gfafseat
HIT | 4+4=8

HAAT

R fafids 3 T 100 9% % 10,000 THAT ;M H T 4 Ufd 3T & §3 W
fifia st o fotu o1raed smf=a fope | Tftt Fegam < oft -

ST W — T 20 Ufd 37

JEe W — T 30 Ufd 37

| T AfH =1 | — T 46 i 31
9,000 371 o feTT 3TTeIGA ITH U T Tt STTaIgehi ol ST 1 e L fea
T | meft < Ul uTe g TE had 400 A HI Do g yum ud Af<m
IrEET R AR @ | T ST I Feqd L forn W | Hed fopu gu oo H 4,
300 37T I T 27,000 % YA W qUf Jed YH: it =t fezm m |
HT < JEdenl § 3TTawesh Usim=n gfafseat Sifs | 8
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< & per share. On these shares the first call of ¥ 30 per share was
not received and final call of ¥ 20 per share was not made.
Subsequently these shares were reissued at ¥ 70 per share ¥ 80
paid up.

Pass necessary journal entries for the above transactions in the

books of C Ltd.

(b) L Ltd. forfeited 470 equity shares of ¥ 20 each issues at a premium
of ¥ 3 per share for the non-payment of allotment money of ¥ 8
(including Premium < 3) and first call of ¥ 5 per share. Final call
of ¥ 5 per share was not made. Out of these 235 shares were
reissued at T 19 each fully paid.

Pass necessary journal entries for the above transactions in the

books of LL Litd.

OR

R Ltd. invited applications for issuing 10,000 equity shares of ¥ 100 each

at a discount of ¥ 4 per share. The amount was payable as follows :
On application — ¥ 20 per share
On allotment — ¥ 30 per share
On first and final call — ¥ 46 per share
Applications were received for 9,000 shares and allotment was made to

all the applicants. All amounts due were received except the first and

final call on 400 shares. These shares were forfeited. Out of the forfeited
shares, 300 shares were reissued at a payment of ¥ 27,000 fully paid up.

Pass necessary journal entries in the books of the company.
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PART B

(Financial Statements Analysis)

19. foch foawor & fogcivor & foret weh 32w o1 3g@ il | 1

State any one objective of analysis of financial statements.

20. Uhs YT 1 T A0S & 2 1
What is meant by ‘Cash flow’ ?

21. <hRU Higd ddsU foh Uehe YaTg foaior 9™ od 99T Tk U1 o foshdl bl
TR0 & T % fT T 50,000 % 9% s ifid & &1 a1 iy gem
— g &1 I, digdig T his JaTg T8l ? 1

State with reason whether the issue of 9% debentures to a vendor for the
purchase of machinery of ¥ 50,000 will result in inflow, outflow or no

flow of cash while preparing Cash Flow Statement.

22. HIOHT  AfUtREM, 1956 hI e AR VI AW I ITER HEAHET

feyfq-faawo & frfafea oe fora g sfides o st=ata guifs Smart 3
()  drdereid o
(i) ~ SATIR FaTd

(iii) o = foTU ITRISH
(iv)  Sfavfa Shifem a=
(v) UdeH

<

(vi) 3IuTfeid 3T
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sheet of a company as per rev1sed Schedule VI Part I of
the Companies Act, 1956 :

) Long Term borrowings

(i)  Trade Payables

(1i1) Provision for tax

(iv)  Securities Premium Reserve
(v)  Patents

(vi)  Accrued Incomes

23. Tfafgd @ Aa @9 U@ don FrRiEfA S TEd AU ohl IO

I 4
ahr (F)

e ¥ A 30,00,000

T ¥ 3T I AT 20,00,000

=], FedfeEt 6,00,000

=Te] Ty 2,00,000

YT TR S 5,00,000

From the following calculate the ‘Gross Profit Ratio’ and ‘Working
Capital Turnover Ratio’ :

Amount ()
Revenue from operations 30,00,000
Cost of Revenue from operations 20,00,000
Current Assets 6,00,000
Current Liabilities 2,00,000
Paid up share capital 5,00,000
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Ta pETTREKD REY-Fht

3GNd Yol b HIUR T FeiTcHS ATH-gTH farawor dam Hifsre -

e

S— , 31.03.2013 | 31.03.2012
HET F T
PEICE IR ) 40,00,000 | 32,00,000
HER oY S 20,00,000 | 16,00,000
I = 2,00,000 | 4,00,000
L 40% 40%

% feralist 1o 12

4

Following information is extracted from the Statement of Profit and Loss

for the years ended 315 March, 2012 and 2013. Prepare a Comparative

Statement of Profit and Loss :

: Note | 31.03.2013 | 31.03.2012
Particulars
No. 3 T
Revenue from Operations 40,00,000 | 32,00,000
Employees’ Benefit Expenses 20,00,000 | 16,00,000
Other Expenses 2,00,000 4,00,000
Tax Rate 40% 40%
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qre 31.3.2013 31.3.2012
[EELY e T T
I — THAT 9T AT :
1. | stwremd fAfer:
(1) T gt 6,30,000 5,60,000
(9) |99 T AT 1 3,08,000 1,82,000
2. | =ITe] g ¢
ST SIdaTd 2,80,000 1,82,000
Bl 12,18,000 9,24,000
II - gfeera it
1. | o<t i@t
T g T
I 3,92,000 2,80,000
2. %ITFLWﬁ'HTQﬁ?ﬁ':
(31) Ty 98,000 1,40,000
(9) =T STt 6,30,000 4,20,000
(|) T a9 Uhg oo 98,000 84,000
Bl 12,18,000 9,24,000
@Al & AeH
e T 1
Al 31.3.2013 | 31.3.2012
T T
g U i
e (em-a R 5 3) 3,08,000 | 1,82,000
STaRE T :

1)
&= |
(i1)

9 o QI A i BT ekt T 28,000 o |
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Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Fund :
(a) Share Capital 6,30,000 5,60,000
(b) Reserves and Surplus 1 3,08,000 1,82,000
2. | Current Liabilities :
Trade Payables 2,80,000 1,82,000
Total 12,18,000 9,24,000
II - Assets :
1. | Non-Current Assets :
Fixed Assets :
Plant 3,92,000 2,80,000
2. | Current Assets :
(a) Inventories 98,000 1,40,000
(b) Trade Receivables 6,30,000 4,20,000
(c) Cash and Cash Equivalents 98,000 84,000
Total 12,18,000 9,24,000
Notes to Accounts
Note No. 1
Particulars 31.3.2013 | 31.3.2012
3T <
gs:;zze(%ZEicselﬁp Sl’:.lastement of Profit and Loss) 3,08,000 | 1,82,000

Additional Information :

(1) An old machinery having book value of ¥ 42,000 was sold for
T 56,000.

(i1)  Depreciation provided on machinery during the year was ¥ 28,000.
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PART C

(Computerised Accounting)

19. AT AGTh YAl o fohelt Weh 1Y o1 3@ hifST | 1

State any one advantage of Computerised Accounting System.

20. Tl @ faftrmt = Afse foma st (/) Ica=t <t < Tehddt ® | 1

Give any two ways in which a query can be created.

21. GTHETAH =1 8 ? 1

What is normalisation ?

22, AT TR@ThT YUl o STTHTUAT (Thalfaifrd!) qe favasHiaar e
TSy | 3

Explain Scalability and Reliability features of Computerised Accounting
System.

23. U T hl TERIAT & HHehI ol STTHHLT A dTcl heHi 1 3g@ HINT | 4

State the steps to validate data with a formula.

24, IATHSI-IMYR (SREH) & ATALI o ®F H ARORT, Mhfqai, Afdeedi qe
T (I i THATSY | 4

Explain Tables, Forms, Reports and Macros as database objects.
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(@) |-1J-1R«1|d{@dlﬁ\%ﬂﬂ%ﬁ?{@ﬂﬁﬁ@ﬁ%@?ﬁﬁm
Hifre
TS 9a4 T 20,000 Toh 15% hi G & qAT 36 HW 20% 1 @ H | 4+2=6

(a) Name and explain the function of spreadsheet which calculates the
Present Value returns of an investment.

(b)  Calculate the formula from the following information on Excel for
computing House Rent Allowance :

Basic Salary upto ¥ 20,000 at 15% and above it at 20%.
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